=) UPCOMING ONLINE BATCHES

07 SEP 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org

September 2022

14 SEP 2022 21 SEP 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

28 SEP 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

N 7052477777/7052577777



3SC CGL/CHSL/CPO - 2022-23

® SSC CG LICPOICHSL
F-  MATHS %

PARTNERSHIP >
(ATHERY) i

LIVE | 02:00 PM By Sunil Mahendras




&

PARTNERSHIP

When two or more than two persons run a business
jointly, they are called partners and the deal is known as
partnership.
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ExY1. In a business A,B anc

and Rs. 420 respectively. Divide the net profit of Rs.180

among the partners.
3¢l : Uh AGITT H A, B 3NR C PHIT: 3803TY 400, ¥ 420

3R T BT PR FRA 21 URNERY & §t4 Rs. 180 BT Y5 @TY
| 59 yorR faurfora gimi w

(a) 60,57,63
(b) 57,60,63
(c) 63,60,57
(d) 19,20,63




@ :A, B'and C started a business by investing Rs.120000,
Rs. 135000 and Rs. 150000 respectively. If the difference

between the profit of A and B is Rs.2100. Find the total profit?
BET:A,BGﬁTCerW:1,200003@1350003@3% |
150000 UG P A= H¥Ph T HTHT L= dRd gl A A |
3R B & @Y & 19 BT 3R Rs.2100 g | & ATH T

| @ifora?
2)63000 J

( |
(b)5670 NS
(c)56700 S
( %

d)6300




@_A, 3'and C st3rted a blusiness’by e.gﬂz
er 5 months A withdraws Rs. 5000, B withdraws Rs. 4000

and C invests Rs. 6000 more. At the end of the year, the gets
the total profit of Rs. 69900. Find the share of each.

3cT: A, B3R CUAPH A 20000 TUY HT A HIb FRIAR
PR I 5AST TS A 3 5000 F 3R, B 4000 S b

i 3R C 7 6000 3iferw Tud T 9T Har g 19l
94 & 3id U, T ATH 69900 F. BT UTW 3T dl UAD BT

kgl (2)20500,21200,

28200 rgzmsa
(b)12000,18000, < U5 )]
19000




. Ex-4:A, B and C start a business. A

invests 3 times as much as B invests
and B invests 2/3 of C invests. Find the
ratio of capitals of A,B and C ?

A, B 3R C TP qaHTT & Hd g | A,
B & fAawr & 3 71 fRawr s=ar g

B, C &T 2/3 HIATZ | A, B3R C
ﬁWWWWW?

6:3:5
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:Pra Tav-and Praveen started a business with capitals of Rs
60000/- and Rs 96000/- respectively. Pranav took a salary of Rs
1500/- per month from the profit, as he ran the business. They
| carried a profit of Rs 44000/- at the end of the years. What is the
'share of Praveen in the profit?
3T : YUTd 3R UdI0T = SHH: 60000/ - 3R 96000 /- = “
| U6 ATUR R fHar qur@ A ay A 1500 SR U ATE T |
da+ feraT, Fife a8 e 9«1 38T AT | 361 a4 & 3id o
| oI g T R 8 2

| 44000 UG OGO SoTT | ATH H ot
(b)

16000 <'LP|\>

(c)18000
(d)24000
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joined him with Rs. 57000. At the end of the year, the total profit
was divided between them in the ratio 2 : 1. After how many
" months did B join ?

BET:-A%WWﬁ%OOOFﬁaWWI?GHHﬁ:ﬁ% h
Pl

d1¢, B = 57000 ¥ & 1Y I9H S AT g ! 94 H,
| T4 B 9P S 2 ; 1 & U A favifora fear man | fbaa |
el & d1¢ B ATH™ H A 31T |

(a)8
(b)>
()6
(d)4
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Iak s after 4 months Kiran joinec W-|t-h

Investlng Rs 4 Lakhs and after another 4
months Ajay joined with investment of Rs.6
' lakhs and after another 4 months factory
burnt. What is the ratio of loss of Shashi,

Kiran and Ajay? (By considering time of % fll
| Investment as well) ( = }
w&rﬁwmmz UREEA L] RN
g‘g % fohT (a)2:3:4
4?"@3@ m%mﬂmﬁﬁw (0)3:3:2
GﬁTa‘mﬁ4I|_(ﬂﬁ 3G 6 R ¥Ud & (€)3:4:3
W$Wﬂﬂgwaﬁ?m4ma§ (d)2:2:3
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“xe8)A, B and.C stafteda bt
tk mounts in the ratio of 7 : 4 ; 5. IfA mvested
entire amount for 9 months, B invested entire
amount for 7 months and C invested entire
amount for 10 months then the highest profit
obtained by any of these three is Rs 6300. What is
the total profit obtained from the business?

| 3CT: A B3RCH7: 4 S%thn?rﬁwﬁam
WWWW% HRISE
R R fParg, B 7
o i @1 FRw a2 sk c 3 10
forg ot fr &1 A fpar @ i 59
et & gRT IaH 3Ifed UTad dTH 6300
!awﬁmﬁmuw%!
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a
b
C
d
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)15000
) 16000
)14100




for 1/6 of the time, B invest 1/3 of the capital for

1/3 of the time and C invests the rest of the
N capital for the whole time. Out of a profit of Rs.

1 4600, B's share is.
3¢l :- TP HISIGRI H, A 1/6 999 & fore gsft &1
| 1/6 fa=1 ®=a1 ®, B 1/3 999 & fore gt &1 1/3
1= HYd1 8 3R C Y Ysit &l U¥ HHY & fore
=1 HIAT 81 4600 TUY & ATH H | B BT fowdT

d (a)10

)80

\
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capital for 1/6 of the time, B invest 1/3 of the
capital for 1/3 of the time and C invests the rest
" of the capital for the whole time. Out of a profit of

Rs. 4600, B's share is.

3¢l - U IIgieRt U, A 1/6 0T & foQ goft &1

| 1/6 A= ST 8, B 1/3 WG & T Uil &1 1/3
f4a=1 HRd1 8 3R C Y Yol &1 R JHY & ferw
fa=T AT 21 4600 YA & @Y H A B FT f=T

gl (2)100
(b)800
(c) 600
(d)400







